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electric field (MV/m)

SRF1 =7.02 MV/m

SRF1 =7.0182 MV/m, SRF2-5 =17.5455 MV/m, ex =0.58171, s1 =0.05325, s2 =0.0305
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SR11 =7.0182 MV/m, SR172-5 =17.53455 MV/m, ex =0.38171, s1 =0.05325, s2 =0.0305
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SRF1 =8.58 MV/m,

SRF1 = 8.58 MV/m

SRF2-5=17.16 MV/m, ex =0.54515, s1 =0.05425, 52 =0.0285
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SRF1 =12.86 MV/m

SRF1 =12.8667 MV/m, SRI.2-5 =16.0833 MV/m, ex =0.96806. s1 =0.05425, s2 =0.0305
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SRF1 = 15.44 MV/m

SRF1 =15.44 MV/m, SRF2-5 =15.44 MV/m, ex =0.96101, s1 =0.05425, s2 =0.0315
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SRF1=17.81 MV/m
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SRF1 =17.8154 MV/m, SRF2-5 =14.8462 MV/m, cx =1.0728, s1 =0.05425, 52 =0.0375
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